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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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PHYSICS (Theory)
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Time allowed : 3 hours Maximum Marks : 70
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TTAT=T 3397 :
() G I 3G & | 39 F97-97 H 67 26 T & |

(i) STYHH-7 35 YT & : GUS 37, TUS &, GUS &, GUS T 3N G T |

(iii)) @B HH5JHE JAF H11 JFH 8 | TS THE Jo7 8 J9F 2 3P & |
GUETH12 Jo7 8, J9% H 3 HH 8 | @S T H 4 37 BT U JoIreIRka Jo7
BN TGS THY Yo7 8 J9h &5 3P 8 /

(iv) I97-99 § GHT W HI3 lahcq 781 & | a9ifd, g b1 aici Tb Jo7 7, i 37h]
JIc? Uk Y97 H 3R qie 371 dic? dil F991 § S7aikes w37 JeT7 1637 T 8 |
98 Io1 7 37191 130 7T 5T 7 G FacT TF FIT & HAT 8/

(v) & ST §l ST HEIREd Hilae Haars] & Tl &1 3991 # % & -

c=3x10%m/s

h =663 x 10734 Js
e=16x10"1°C

n,=4nx 107 Tm A™?

g, =8-854 x 10712 C2 N1 m™

1

4re
o

=9x10° N m? C2

m, = 9-1 x 1073 kg

=& 1 Zo99H = 1-675 x 10727 kg

I o1 GodHH = 1-673 x 10727 kg

TS &1 = 6-023 x 1023 gfd am 1A

SieeaHH I = 1-38 x 10723 JK!
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General Instructions :
(i) All questions are compulsory. There are 26 questions in all.

(it)  This question paper has five sections : Section A, Section B, Section C,
Section D and Section E.

(iti) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of
four marks and Section E contains three questions of five marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the
choices in such questions.

(v) You may use the following values of physical constants wherever
necessary :

c=3x10%m/s

h =663 x 10724 Js
e=16x10"1°C

n,=4nx 107 Tm A™?

g, =8-854 x 10712 C2N1 m2

1

4re
o

=9 x10° N m? C2

m, =9-1x 1073 kg

Mass of neutron = 1-675 x 102" kg

Mass of proton = 1-673 x 1072 kg

Avogadro’s number = 6-023 x 1022 per gram mole

Boltzmann constant = 1-38 x 10723 JK!
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Qg A

SECTION A

1. ot 39 & fagqaes sa (3. W.0%.) q91 e diceal & s = (9g)
ferfeT | 1

Distinguish between emf and terminal voltage of a cell.

2. ol forg =RomcHes ofTe 1 & t@TC IE( fot § qRIT MU STER & | @ foRd)
37T RUTTcHS ATGY o B A b I H ITeh! TSl Holl k1 HH ST IT A
B ? 1

The field lines of a negative point charge are as shown in the figure. Does

the kinetic energy of a small negative charge increase or decrease in
going from B to A ?

3. UOR e H W e (fdfier)’ 1 &1 g g ? 1
What is the function of a ‘Repeater’ used in communication system ?

55/1/P 4
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4. I <C MU fRur 3@ § W@ AB, T i %l EUd SEdl g | 9q15T 98 ol
39 8 A1 37Idd | 1

The line AB in the ray diagram represents a lens. State whether the lens
is convex or concave.

5. el TH. (a.c.) 9Oy # o7gfa o @y ari@r-gfaama o 9iead (fe=em) =i
T % T T AT SA1ST | 1
Draw a graph to show variation of capacitive-reactance with frequency in
an a.c. circuit.
Qs d
SECTION B

6. o= ¥ gy 7o Hiex &g #, Hgem fog AR A 40 cm gft Wyt Bran B 1 AR
R % @19 AfishA § 10 Q 1 Y0y e T TgeH fog A ¥ 60 cm gl W 9w

BId1 8, I RAAT S & T &l IHehad il | 2
A B
—{)
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In a meter bridge shown in the figure, the balance point is found to be
40 cm from end A. If a resistance of 10 Q is connected in series with R,
balance point is obtained 60 cm from A. Calculate the values of R and S.

R S
— A o AVAA—

|\ [\
|| \ )

7. hid o quarg HeRa S50 & Yo Sl Tk R0 39 SRR TSR @ TR STdae
10T 1 T F71d HI0T < A o SRR @ AT Tcdeh HIU 1 A {57 o 0T

3/4 3 | T spivr <1 99 319 HIfST | 2
areran

39 HIIH § YR hl ATA T Uiehad shifoiw fSEes fou shifass shior =1

qH 45°% |

w1 fou U g "reAt & U W ok U shifaes ivT 1 A SATafad YehTr

quTesd W A o1 8 2 HRU 9qrsu | 2

A ray of light passes through an equilateral glass prism such that the
angle of incidence is equal to the angle of emergence and each of these
angles is equal to 3/4 of angle of prism. Find the angle of deviation.

OR

Calculate the speed of light in a medium whose critical angle is 45°.
Does critical angle for a given pair of media depend on the wavelength of
incident light ? Give reason.

8. T il Sl UfehouqT o 3MER W, haftT v HoT o =il Trarell ar
o g ARG shl SATEAT HH 1 ST Fehell B ? 2

How does one explain, using de Broglie hypothesis, Bohr’s second
postulate of quantization of orbital angular momentum ?

9. U (Y) T HO H R AT & ? TR HIVY foh IA AT b IUA
o 39 fafy =61 3w et gt ok |enor o for el A8 &1 wehan | 2

What is ground wave communication ? Explain why this mode cannot be
used for long distance communication using high frequencies.

55/1/P 6
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10.  Torsft TTfcmT™ Sciergia <l qod aUTeed &1 A, 6 x 10717 J 3ol aret B 6
TEICE & SO & | SAFCH o Gl ol Yieheld ity | 2

The equivalent wavelength of a moving electron has the same value as
that of a photon of energy 6 x 10717 J. Calculate the momentum of the

electron.

Qs H

SECTION C

11. 3@ T T U qigey (ATeT) 61 ged aiiaT sl 3 F1d shifeie, Sefh T
Ui <l gTiar 1 uF 8 | 9 X @1 Y &/l & &= 6 V &l T a9l o &
M, a7 39 GRUY (1) W AT qAT (i) T Gferd Soft ol I 1 ShiferT | 3

X oA ¥

Find the equivalent capacitance of the network shown in the figure, when
each capacitor is of 1 uF. When the ends X and Y are connected to a 6 V
battery, find out (i) the charge and (ii) the energy stored in the network.

xe—L}

v

12. Scoi@ Hifce fF fawemmdt (wefmmfix) fra fagra w snaf@ g | W@ @
Freh foafan e foret favemmdt (aeRmmfier) it g gnfear @ glg i
ehdl 7 | TRl Ta & fagq-aTgs 9@ (3.TH.TH.) Sl A9 o foTu, dieeriet 6t
ot | fawemrdt (qefimiier) i sli=ar w= & St g 2 3

State the underlying principle of a potentiometer. Write two factors by

which current sensitivity of a potentiometer can be increased. Why is a
potentiometer preferred over a voltmeter for measuring the emf of a cell ?

55/1/P 7 P.T.O.
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13.

14.

15.

55/1/P

(@) T & ®ied o & ugl # fafeon ft dgar ug st ufenfya
SHifs |

(b) TRl yehrTer Y &1 foRToT g H U et 1 Y SR gEd i A R |
T a1 <hl digrdT THE 8 | 39 § fhEd (1) Ifd T S Ufd deve
BIHI hl T AP B, (i) THW-SAFHl hl ATThan TS IHoll 1
A AT B ? 3794 IR I ¥ o forw swmor fafge | 3

(a)  Define the term ‘intensity of radiation’ in terms of photon picture
of light.

(b) Two monochromatic beams, one red and the other blue, have the
same intensity. In which case (i) the number of photons per unit
area per second is larger, (ii) the maximum kinetic energy of the
photoelectrons is more ? Justify your answer.

(a) 1Tl GLGRIhI ohl G H TS GLGRIehi o 3TfUeh 3T &1 HHT STl
2 23 Hru forget wase Fifvy |
(b)  TYUT HHRLUT o ITANT T ST foh It gUUr & |ed AvTEl yfcfsra
g a1 7, 918 a%] 3ok A1+ el W ot feva | | 3

(a)  Give two reasons to explain why reflecting telescopes are preferred
over refracting type.

(b)  Use mirror equation to show that convex mirror always produces a
virtual image independent of the location of the object.

o o W Hi faRau qu1 T 39 @ quisy foh I8 FEm aiEd] g
e i Iufeafa o, foret oo o fa foggq g i foon &1 q@igem & d
ore TR TET BT B |

forelt & ¢ Fecht 1 W-Iehed 5 mH 7 | 398 Y4 fag[q 90 1 99 30 ms
H4A T 1A T I ® | 39 et § UG faga-aes 9a (3.00.T.) &1 A4
qREhTeTd I | 3

AT

TrEhed oh (T TRE 1 oM, fRR-fagfaehl § W e fem & fohd IR
fim g 2 98" 4 Tm i |

@ (fagad3@n) w gedft b1 grehE & T 0.4 G 7 | g b
greehia faga et wma <hifsre | feam o 2 - geeht it Brsem = 6400 km. 3

8
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16.

17.

18.

55/1/P

State Lenz’s law. Illustrate, by giving an example, how this law helps in
predicting the direction of the current in a loop in the presence of a
changing magnetic flux.

In a given coil of self-inductance of 5 mH, current changes from 4 Ato1 A
in 30 ms. Calculate the emf induced in the coil.

OR

In what way is Gauss’s law in magnetism different from that used in
electrostatics ? Explain briefly.

The Earth’s magnetic field at the Equator is approximately 0-4 G.
Estimate the Earth’s magnetic dipole moment. Given : Radius of
the Earth = 6400 km.

foRIq-greh i TGT hdl 309F Bt & 2 1 UM hl Sl bl GId T g ?

+ x-3181 o TGN T (H=OT) Al 55 ToR[d-Frehld TN hl Teh sFawl-Fa=
Sg | forpq qen ek & <y feem qwize | feep dun gredhim & %
GIHTO (|TT) AT =Rl & o7 o ste TR ol ey |

How are electromagnetic waves produced ? What is the source of energy
of these waves ?

Draw a schematic sketch of the electromagnetic waves propagating along
the + x-axis. Indicate the directions of the electric and magnetic fields.
Write the relation between the velocity of propagation and the
magnitudes of electric and magnetic fields.

fopett eamifarea 903 & s-faares den 3ueht g oy H wrery wg Hif |
foreht teamifaea uered 1 314 31, o-89 °, 100 7 B | fohas Tw & =,
39 qere 1 SAfqufed W I I "M i 6-25% BT 2

Obtain the relation between the decay constant and half life of a
radioactive sample.

The half life of a certain radioactive material against a-decay is 100 days.
After how much time, will the undecayed fraction of the material be
6:25% ?

SR SIS o Gl (S9H) H S T &1 @ S1dl 1 & W@ 91l § ?
SR SIS o dlcedl a9k o &9 § 39N o fUg=d o 3Gehl R sl Tk
g9y R <hl FgRa ¥ e hifv |

Write two important considerations used while fabricating a Zener diode.

Explain, with the help of a circuit diagram, the principle and working of a
Zener diode as voltage regulator.

9 P.T.O.
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19. TTcTeh, Adarcsh Al fogquet gl § TR ¥ % fau reawasd el o
NG HATET |
a9 § qREdT @ 39 qeref o S¥agR W A1 IHE Bl 8 2 989 § T HIfu | 3

Draw the necessary energy band diagrams to distinguish between
conductors, semiconductors and insulators.

How does the change in temperature affect the behaviour of these
materials ? Explain briefly.

20. (a) UIR AT H fF O 31G¥d HH-H 8 ? TIh b ThR (BHH) HI
Tag 1 fafeay |
(b) —TUR T H YITh ST o foheal dI ST ol Ieoid HIFT | 3

(a)  What are the three basic units in communication systems ? Write
briefly the function of each of these.

(b)  Write any three applications of the internet used in communication
systems.

21. (a) Sfidufora safaestor TS g s & fou e1mavass wid (Sidere) fafeau |

(b) 3 o fg-ferdt wamt 4, frfei & wwaa & 93 % = 1 g & @ e
H1 =N F IiadT (foeem) =t guiv % fow s 7% sH13Y, e 3
ot yere (Yied) SmfEfda wd € | 39 93k I JEar | 1 FIT

ITed B Tehat 8 ?
(c) TRl i =i W =N W@ B, A e & = hi gl w o q
N Safeh =1 gyt e (Wnfied) smfafda &d 8 2 3
(a)  Write the necessary conditions to obtain sustained interference
fringes.

(b) In Young’s double slit experiment, plot a graph showing the
variation of fringe width versus the distance of the screen from the
plane of the slits keeping other parameters same. What
information can one obtain from the slope of the curve ?

(c) What is the effect on the fringe width if the distance between the

slits is reduced keeping other parameters same ?

55/1/P 10
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22. U Ui TA.H.AR. (LCR) iUy i fohefl T8 TEH. (a.c.) Fa & B0 & e
STt & foreht aftad-a sl omafd ‘o’ 8 | 1 9falgl Ry 99T Ry (R; > Ry)
o, ‘o’ o e & ¥4 fagg am ¢ % fomem (diEdq) # guia % e
T ST |
30 TP () & 9 & fefafad get & o e
(a) Topm gom | orgATg <feres diewr g TR &I 2
(b) Torm feufa o wifr e arferes R ofit =t 2 3

A series LCR circuit is connected across an a.c. source of variable angular
frequency ‘o’. Plot a graph showing variation of current 9’ as a function of
‘o’ for two resistances R, and R, (R; > R,).

Answer the following questions using this graph :

(a) In which case is the resonance sharper and why ?

(b)  In which case is the power dissipation more and why ?

Qug g

SECTION D

23. T T T®E & RO Th el § {Ogd-g=no @R 1 T qR @ 8 ¢ R
= TR T | 3Heh 9 @ A g FD ATl 4 36 oW 3R I ISR TS 6
ORI W@ =meT | 99 E 9 AR (hEd) S FA A W@ A, IS A 3¢ <@ fomn
HR G I8 Fehl L gL BT fQaT, qTfeh o T R 1 Y 4 Teh | Tebed IH &
ITH | HS Dl A TG | IS I8 3T oh (1T ST o ITH o AT |

ITh T W AT Fefafea ge % s @i 4

(a) 39 U % SIF TS g WERid & Hedl i 3earid hifay, |

(b) el e gu W 9 W Al vl Jo SMU dF W KT @ AL A,
foArg ot W IWHI A T I AT (ATAh) GFhT T Hehadl B | ST
T HRT g ?

(¢ Togd va= 9 3 fogd-vft 1 g foa IuvihieTl @ qga™ (F=or)
T Ug, 3Teh! dleed i Afd 3= L fen S 2 | Tuse HifSe, =4t |

55/1/P 11 P.T.O.
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During a thunderstorm the ‘live’ wire of the transmission line fell down
on the ground from the poles in the street. A group of boys, who passed
through, noticed it and some of them wanted to place the wire by the
side. As they were approaching the wire and trying to lift the cable, Anuj
noticed it and immediately pushed them away, thus preventing them
from touching the live wire. During pushing some of them got hurt. Anuj
took them to a doctor to get them medical aid.

Based on the above paragraph, answer the following questions :
(a)  Write the two values which Anuj displayed during the incident.

(b)  Why is it that a bird can sit on a suspended ‘live’ wire without any
harm whereas touching it on the ground can give a fatal shock ?

(¢)  The electric power from a power plant is set up to a very high
voltage before transmitting it to distant consumers. Explain, why.

Qus g
SECTION E

24, 3 TS o g HH AR 1’ QAT 2 & U [, 997 I, Taiad! g yanfsd
B @R | Afe gl arrd ek € fewn 4 yanfa & @ # e g1 Al & ot
T d 2, @ W 1 F BT AR 2 W SR grahi 8 B % g sio s
HINT | 30 Th IUYh ARG I TERAT d AR 1’ o RO AR 2’ hl THh
(3hTE) oI R @M a1l oA b1 O (wimron) qen 3gehl foun wma Hifsw |
Ife A1 A # faga g fowdia feemsti # 21, a1 39 9@ & whid #§ fhm TR
gfEd g ? UTed SAsieh 1 IUANT fagq g™ @ TH.SAE. (S.I) A ol
IRATT 3 o TofT iR | 5

AT

forelt St grawit 6 wafies qen fedioe Heferl @i oued i =TT &
oI T TTavEes @ SR | 98 feg fagra w anuifa 2 2 fordt oo o
TIfeh qd fgdiees Hefcrl 6l Aicedrsti o = Th dre-d, WA e
fotres Heforl # ar % HU K T & ug § ued HIfT | ITdw Trey i

T i o [T T g1 G TNehed-I3Tl i Ieoi@ hifg |

TS B H IHoll &1 o his ql HRUN Hl IgE T | 5

55/1/P 12
Downloaded From: http://www.cbseportal.com




Downloaded From: http://www.cbseportal.com

Two infinitely long straight parallel wires, ‘1’ and ‘2’, carrying steady
currents I; and I, in the same direction are separated by a distance d.
Obtain the expression for the magnetic field TB) due to the wire ‘1’ acting
on wire ‘2. Hence find out, with the help of a suitable diagram, the
magnitude and direction of this force per unit length on wire 2’ due to
wire ‘1’. How does the nature of this force change if the currents are in

opposite direction ? Use this expression to define the S.I. unit of current.

OR

Draw a necessary arrangement for winding of primary and secondary
coils in a step-up transformer. State its underlying principle and derive
the relation between the primary and secondary voltages in terms of
number of primary and secondary turns. Mention the two basic

assumptions used in obtaining the above relation.

State any two causes of energy loss in actual transformers.

25. (a) TormE® & et = fafae qon vose hifse for 3 form amumr @ aehama
g
(b) T Al % fIFgq-aES 9 (3.0H.UR.) HAM: E, q1 E, 8 3T =aih
Yfeg A ry QAT 1y 3 | J GHT T THA () h0 H IS & | &1
Ak TEged ThA A & () fogdaes 9@ (Fwmus.) qon
(i) 3Tl g o U = Foad HINT AT 39 GHEISH i
gferefia o Tk | 5

AT

(a) “TrHl I83 H UliEg (S5) MO + Q o IV ATeX ohl AR fogd e,
39 U5 o STRhR a1 |1eH (M) W s 78 wwar 1”7 39 & A
gfse % fore g o G |

55/1/P 13 P.T.O.
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(b) < HIEH JATHR T 1 AT 2 1 BT R 2 | ek IRaeh SAe™ o
HHI: — A AT + A C/m B | 39 S TSN ! THTET 3N 39 Yh T@T T B
foh 5ok gl & o9 K g0 RV3 B | U1 1’ o shrg T 2 forgd-&a 1
gi@Tr (A) qen feem sma it | 5

(a)  State Kirchhoff’s rules and explain on what basis they are

justified.

(b)  Two cells of emfs E; and E, and internal resistances r, and r, are
connected in parallel. Derive the expression for the (i) emf and
(i1) internal resistance of a single equivalent cell which can replace

this combination.

OR

(a)  “The outward electric flux due to charge + Q is independent of the
shape and size of the surface which encloses it.” Give two reasons

to justify this statement.

(b)  Two identical circular loops ‘1’ and ‘2’ of radius R each have linear
charge densities — A and + A C/m respectively. The loops are placed
coaxially with their centres R+/3 distance apart. Find the
magnitude and direction of the net electric field at the centre of

loop 1.

26. (a) TR % fUgFd % IUANT ¥ Tk GHAA dUTT % g9 Hiegq 9 foid
HIEIH H 90T ohl eXsU | SEE Tl HISIHT H qUI <hl =Tl o S

ITUTd AT T |
(b) () Torelt dieRfse W mafaa ryfaa wehrer Waska: gioa (dieisse)
ERIRSASIGI

(i) 9 AYfd TR fold Wiesm | god #1es| | YAY Hal 7, @
g T WISl ok IS W WEdd ¥ gfad & a1 7 | 39
TRErET o oTT e o I o SSieh ohl Scdd hig | 5

AYAT
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TS IUATA ¥ o gHIl Is3l <l Fehdl B wuE (R) € | 3ok ureslt ugred
(HTETH) T YA py & | 3H NG H ST MU SFIHR TG 1, HIETH
% e § W& TR |

(a) 39 GASH ! I Bk U 1A HIT |

(b) Torm feurfa © 98 S SToETdl <ig <t wifd Rl T ?

(c) 9 U a%] 08 ¥ 9gd g e &1 3R py > (p + 1/ 2 &, a1 38 feafa
% fou foor smR@ SA13T | 39 TANH (S¥aEe) gRl s Ufdfers
SRId T BRI ? 5

(a) Use Huygens' principle to show the propagation of a plane
wavefront from a denser medium to a rarer medium. Hence find
the ratio of the speeds of wavefronts in the two media.

b) @ Why does an unpolarised light incident on a polaroid get
linearly polarised ?

(i1))  Derive the expression of Brewster’s law when unpolarised
light passing from a rarer to a denser medium gets polarised
on reflection at the interface.

OR

55/1/P 15 P.T.O.
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A biconvex lens with its two faces of equal radius of curvature R is made
of a transparent medium of refractive index p,. It is kept in contact with
a medium of refractive index p, as shown in the figure.

(a)  Find the equivalent focal length of the combination.

(b)  Obtain the condition when this combination acts as a diverging
lens.

(c) Draw the ray diagram for the case p; > (u, + 1)/ 2, when the object

is kept far away from the lens. Point out the nature of the image
formed by the system.

55/1/P 16
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